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Chabot College December 1974
Recreation 98.3-71 Final Examinati

Advanced Chess

1. Wwhat is the foundation of positional play? (1)

2. What are the aims for White and Black in the King/s Gambit Accepted
(1 e4 ed5 2 T4 ef)? (2)

3. What are the ideas behind Falkbeer’s Counter Gambit (1 e4 e5 2 f4
d5)? (3)

4. What is the primary obiect of the struggle in the opening? (4)

5. How did Anderssen (Black) win this game against Rosanes (Breslaus
1862)? (5)

(Black: Ke8, Bb6s Rb8s Rd8s Bd4s
Bf5y ppa7s c6s f7y» €79 h7)

(White: Kcls 8e2s Rd1ls Rhls Bd2,
Nf3s ppPa2s b3s c3y e5y f4, €2y h2)

6. After 1 e4 e5 2 f4 ef 3 Nf3 25y why is 4 h4 instead of 4 Bc4 more
in accord with the idea of the King/s Gambit? (5)

7. How did Anderssen (Black) win this game against Rosanes (Breslaus
1863)¢ (7))

(Black: Keg7s Babs Re8s Be5s Bf5,
Ng3s ppa7sy f4s f7s €45 h7)

(White: Kf2, 8d1: Rals Rh2s Bcl:
Bd5s Nc3s ppa4s b2y c2y d4s €2y h4)

8. What is the main reason for the inferiority of Philidor’/s Defense
{1 €4 e5 2 Nf3 d6)2 (T)

9. What is the disadvantage of an isolated center pawn in the opening? (&)

10. Why is a knight the most effective piece to exploit the weakness of



an isolated pawn? (8)

11. When is an attack of the pawns on the flank positionally Jjustified? (9)

12. What was Morphy the first to understand that made him superior to his
contemporaries in chess? (11-12)

13. After 1 e4 e5 2 Nf3 Nc6é 3 d4 ed 4 Nd4» what is Black’/s immediate
task in the opening? (12-13)

14. How does Black’s move in this position (Morphy--Meeks Mobiles 1855)(13)
illustrate Morphy’s most important discovery about open games? (12, 14)

(Black: Ke8s; 8d8s; Ra8s Rh8s Bc5,
Bc8s Ncés Ne8s ppa7s b7y c7s d4y d7»
f7+ 87y h7)

(White: Kel» 8dl, Rals Rhis Bcls
Bc4s Ncls Ne5s ppa2s b2y c2s eds f2»
g2y h2)

15. Since the privilege of the first plaver implies an advantage in tempos
why should it be Black’s aim to oppose the opening up of the game? (17)

16. Give the moves to Morphy’s celebrated victory over the Duke of Braun-
schweig and Count Isouard (Pariss 1858). (20-21)

17. What are the chief characteristics of the closed game? (23)

18. For what purpose did Steinitz seek a protected and closed center in
his offensive games? (24)

19. What are the logical points of attack for both sides when White has
established the advantageous formation of pawns on e4 and d4 versus Black’s
pawn on d6 in the opening? (26)

20. White has just plaved 8c3-f3. Who has the better game and why? (28)

(Black: Kh7: 8b5s Rd4s Re2s; Bbé6s
ppa7sy c7y f5s 86+ h5)

(White: Khils 8f3sy Rels Rh4s Bb2s
ppPa2s c6s f4s h2)

21. What has Steinitz gained in this position by pla



of castling? (29)

(Black: Ke8s 8d8,
Be7y Nb8: Ne7s ppa?ls
26y h7)
(White: Kels Be2
Be3s Nd2sy Nf3s pra2s
f2y 82y h2)
22.

indicating which side possesses the better bad bishop and why.

(Black: Ke8» 8d8»
Be7s Nb8sy Nf6s ppa’s
f7+ 87y h7)

(White: Kel, 8dl,
Bc4sy Nbls Nf3s ppa2s
f2y €2y h2)
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When attacking a restricted positions

support or withdraw an attacking unit that has
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25. What is White’s opening obijective in the Vienna Game (1 e4 e5 2
Nc3)? (34)

26. For what purpose did Black play Ncé-a5 in this position (Rosenthal--
Steinitzy Viennas 1873)7 (35)

(Black: Ke8, 8d8s Ra8s; Rf8» Bc8»y
Be7y Na5s Ne7s ppa7s b7y c7y db» 7,
g6y h7)

(White: Keg1, 8d1s Rals Rfl» Bc4s
Be3s Nc3s Nd4» ppa2s b2y c2y e4 f4,
g2y h2)

27. What was Steinitz’/s method for turning the advantage of the two
bishops to the fullest possible account in semi-open positions? (35-36)

28. After 1 e4 e5 2 Nf3 Ncé 3 Bb5 a6 4 Ba4 b5 5 Bb3s why is Whitels
position an improvement over 1 e4 e5 2 Nf3 Ncé 3 Bc4? (37)

29. Identify and define the term //weak points// as it applies to Black/’s
position. How should such weak points be exploited? (38-39)

(Black: Ke8y 8e7s Ra8s Rf8y Bb7»
Ne6s Ne8s ppabs b5s c7» db» e5y f7»
g6y h7)
%7‘ 7y 2
(White: Kels 8e2s Rals Rhl, Bcls . ////’,,// /,/%
Bc2, Nf3s ppa2s; b2s c3» d3» eds f2, Y
g4y h3)




(Black: Kf7s Rd8s Be6s Beg7s pra7s
b6s c5y 5y 59 h6)

(White: Ke1s Rels Be3s Nb3s ppra2s
b2y c3» f3s 2y h3)

31. Wwhat plan did Steinitz evolve in this position to expose the weakness
created by Tschigorin’/s last moves f7xg6? (43-44)

(Black: Ke8s 8d8s Ra8sy Rf8s Bc8»
Be7s Ne6s Ne7s ppa’7s b7s c7» d5s e5,
g6y h7)
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(White: Kels 8d1s Rals Rhls Bcl,
Bc2s Ne3s Nf3» ppa2s b2s c3y d3s» eds
f2, 82)
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32. What is the positional Jjustification for Steinitz’/s pawn sacrifice»
d4-d5s in this position? (46)

(Black: Ke8y 8d7, Ra8» Rh8» Ne7s - ,

ppa7y b7s cbs f6s €75 h7) 7 %
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ppa2s b2y d4s f2, 2y h2)
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